N = 0l & At & M A

20219 = 20l a LesH EXFEE

=M EXNELD
Ha: Y 7

R EXZBHE 92 =& (e H)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
EXNES 332,261 1,714,167 N 1,381,906
= 95,526
Al HI 2,500
Tyl 234,235
NEHY & 263,646 1,615,164 N 1,351,518
= 95,526
Al HI 2,500
Tl 165,620
EXN2BHE g =X 80,112 80, 143 A 31
= 20,612
Tl 59,500
HE Z2AI X & F 60,612 60,488 124
= 20,612
24| 40,000
101 e1214| 4,827 4,824 3
= 2,412
24| 2,415
04 JIZtHI22XNSEE S 4,827 4,824 3
OMEZ2AIXIt BxX 4,827
S22 80, 1002 1 x44! 3,525
= 1,763
Tl 1,762
- =X 80, 100&! » 1«8 641
- 321
I 320
=D\ 80, 100! 1 x2! 161
= 80
24| 81
AEEs =2 S 500,000& 500
- 248
I 252
201 gEt24d| 43,342 43,942 A 600
= 16,950
T 26,392
01 AP 22| H| 43,342 43,942 A 600
OMEZ2AXIF EES HZ 2,000,000& 2,000
OMEZAIXIF ZAFH 22Y S 39,342
HEZAIXI S22 38,430,000 38,430
= 16,038
24| 22,392
NE ZAIXIOF ZAF 2 & H| 912,000 912
= 912
OXNIIZA 2HEE 2,000,000& 2,000
202 04| 2,600 2,600 0
= 1,250
Tl 1,350




EXNNLD
NNy Do
EXNZHG 42 =7

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 = LH 4 bl 2,600 2,600 0
OMNE S AR Z AL 20,000 x5 262 2,600
= 1,250
-l 1,350
203 YR =2t 270 360 A 90
03 Al =AY R =4 270 360 290
OZAMXILEAN d2FE 300,000& *90% 270
301 82X = 9,573 8,762 811
0B A =R RAB A4S 9,573 8,762 811
OXNHAEY RE=X 9,573
== 608,500 x 18 128 7,302
Egall 6,000 «1H =222 <123 1,584
wSHl 2,6003 x1H 22«12 687
Hgegs nd 17,000 17,000 0
201 et 17,000 17,000 0
01 At 22l 17,000 17,000 0
OMNgRSZ 4SS oL AW} 242
,000,000& *10JH 2 *85% 17,000
PSS HI A 22 2,500 2,655 A 155
201 L2l 2,500 2,655 A 155
01 At 22l 2,500 2,655 A 155
ORSHSHY 428 M M
5,000& *500H 2,500
[HOIAMEIA WS 3,745 4,229 A 484
ANHQA g5 3,745 4,229 A484
201 ¢et24l 3,745 4,229 A484
01 At 22l 3,625 4,109 A484
ooz 2IES 3,625
L= EAX 20,0003 *60 A x90% 1,080
Tl EWH(ZY) 160, 000& 97 x90% 1,296
ZElH EH(EW) 99,000 *3IH x90% 268
SAI EU 180, 000& *2H «90% 324
WA EY 110,000 *3H *90% 297
IBI A2B 100, 000& *4JH «90% 360
02 =224l 120 120 0
OEXOIENH& & A HEEER
120,000& *1H 120
A& 2t 109,114 1,476,123 A 1,367,009
= 74,914
T Hl 34,200
NEEE 2el 17,216 19,868 N2,652




2M: EXNEE DN
M RHY D
chelr XX 2l EREED)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
201 ¢er24| 16,573 19,076 A 2,503
01 At 22l 15,385 17,272 AN 1,887
OXNFIZ=F2el 810
NE=HE 223 200,000& *90% 180
CEXNOSAEM MA HMZE 200,000 *90% 180
NH2e otHEEE MZE 500,000 x90% 450
OXNEIIEEEX &Xl2el 95,700& x100& 9,570
OZRXNHIIES dtsl 5,005
EXOIsEelZ2AM 7703 *2,500% 1,925
S g =i 7,700 *400& 3,080
02 =24l 1,188 1,804 A616
OXNFEZSLU AR MEBEBEE
120,000 6 720
ogzasll =l 4,500,000 *6% 13l 270
Oogeads)l)l ZHuM 66,0002 *33| 198
203 YR =2t 643 792 A 149
03 AIEFAH S =AY 643 792 A 149
O HINIAMN Hd2FX 389,000& *90% 351
OXHE g2=2 324,000& *90% 292
SSUBHBEALY 2 7,694 85,964 AT78,270
201 L4l 7,694 85,964 AT8,270
01 At 22l 2,038 82,394 A 80,356
OXNHEEH UsHEI A2 1,503
NREE IsSHMZI 43
165,000 *6IH *90% 891
A Assy 500, 000& *1JH*90% 450
ald 90, 000 *2H x90% 162
ORSUESESREALEH EX
66,000 *9Z *90% 535
02 2324l 5,656 3,570 2,086
ORSAUHEHIBRANLE AZEYAH RAUES 5,656
2 2t0/BAU &I (ArcGIS Server)
229,170 128 2,751
-2lZE S(ALSE g2 Nd)
37,400 128 449
SAHBEHEA(EHEEFH)
30,800& 128 370
KRAS 233t AT EQN 173,800& 128 2,086
INESPUESUN; 74,914 51,243 23,671
2 74,914
201 Lt 74,914 51,243 23,671
= 74,914




2N

EXNFEE Y

g Ny 78
& XE 2e| (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
01 AFR2t2ltl 74,914 51,243 23,671
OXNEBHE=A E=22 71,509,000& 71,509
= 71,509
OXETH=AL 2l 3,405,000& 3,405
= 3,405
NETHEAL 22 9,290 1,319,048 A 1,309,758
201 ¢er24| 9,290 3,236 6,054
01 At22t2l bl 9,290 3,236 6,054
ONXMEZA 22BE S H=
1,000,000& *90% 900
ORsH &7 SIEE =2 1,000&+50A 50
o323 848y 8,340,000& 8,340
C2EFA MY 70,675 54,669 16,006
Al 2,500
I 68,175
S2HZ=A AMAES 22 33,946 33,959 A13
Al 1,500
I 32,446
201 et 312 312 0
02 2524l 312 312 0
OADIEKAIS S4i] 13,000& 20 123 312
308 AAIEHHSOIA 4,839 2,720 2,119
1132 SoHUHSBHEAEALS I 4,839 2,720 2,119
OE2Y=4 JI2t R+ 4,839,000 4,839
401 Al HIZ 2018 28,795 30,927 N2,132
Al 1,500
T Hl 27,295
01 A& HI 28,795 30,927 AN2,132
E2H = HE AX 16,500
S C28H 300,000& =404 12,000
-HHE 2o 60,000 504 3,000
29 C2HE 300, 0002 *5H 1,500
AlH 1,500
O =AANE SANES 12,295
C2EE wi 300,000& *3,91401%0.01 11,742
SINHXNEHSE WM 130,000 854 «0.05 553
ERHEFA EE 19,005 4,250 14,755
Al 1,000
I 18,005
201 et 18,600 3,800 14,800
Al 1,000
L Hl 17,600
01 AP 2teltl 18,600 3,800 14,800




A EXNEEDL

Ha: Y 7

Cel: S2HFA ALY (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Os28 JIgs s M= 5,000 4004 2,000
Al 1,000
I 1,000
OE2g=A S8 HUXE MZ
2,900& x5,000% 14,500
OdAH=a 2B &1 21,0002 1004 2,100
203 YR =&l 405 450 A45
03 AIMF=XH R =AY 405 450 A45
OERIZEL AN HE ALEX
450,000& *90% 405
Iot=L FEAAE 22 17,724 16,460 1,264
201 Let24d] 17,724 16,460 1,264
02 =24l 17,724 16,460 1,264
OGIS A& S/W KX E = 2,400,000 2,400
O=3I=2FEANAE(KAIS) 2 X
15,324,000 15,324
HERIAZH(EXNZEE D) 67,234 97,622 A 30,388
Jl= &l 67,234 97,622 A 30,388
Jl=dl 67,234 97,622 30,388
201 Let24dH] 14,062 14,062 0
01 At 22/l 14,062 14,062 0
OJlzge+s Il 7,258,000 7,258
ORN2E=EHl 6,804,000 6,804
202 (44l 49,392 70,560 A21,168
01 2LHOIHI 49,392 70,560 A21,168
OJleg a0l 70,560,000 x70% 49,392
203 YR =&l 3,780 4,200 A 420
04 FN2ELRZ=TH 3,780 4,200 A 420
ORN2IYSF=AHI 4,200,000& *x90% 3,780
HRES(EXNFE ) 1,381 1,381 0
RSN 1,381 1,381 0
HLRE=S &= 1,381 1,381 0
802 BtEt= DI EF 1,381 1,381 0
03 JIEtEtEt 3 S 1,381 1,381 0
ONg=ERga RILE:R &3
160,000,000 *1.75%* 1802 /365 1,381




